10, 10
_ *
i ﬁ 4-M5x0.8*6.5L i
o P s i / e 10, _16.5 10 f
o @ ©) é [
- © “— © L
@ S ~ S @ PCD=®33
\\ \\ \\ \\ 7\
® VoA Vo ® L] -
\\\ \\\ \\\ \\\ gé
\\\ \\\ \\\ \\\ g %
b ) © 8-M3x0.5*6L
@ /// /// /// /// @ I~ . X -
[ [ O§
® Vo ® s
[N <
n
>
o| o
0| K
ol 5-M2.5x0.45*5L

450 S
(Two Sides
—]

75
38
\ \ |.L LI_L' JJ \ \ Ill ||ﬁ/ T ‘
INERY ] [~ o =
1 //) //) //) //) V
. — \ (\ (\ (\ (\ — ;[ @l §L _—4 ] 2
™ [ \3 NN N ] |_| |=| . %
i Yoy @ @ S N4 i b / ) b~
N 7 v 7/ 7/ i |
—_— || ‘/ ‘/ ‘/ ‘/ | ‘ ) “TJ ‘,
= T = L T . Z, : H
© P100*5=500 50 ™ 30
o
60
12-()5 588 (82.4)
* A P 10%19.5L
12-M5x0.8-*9L = (RHE)
\ [ A A [
g \\ \\ \\ \\ J
) ) ) (D e ——
o SO0 o0 od
\\ ‘\\ ‘\\ \\
o
e} \\\ \\\ \\\ \\\
\\ \\ \\ \\
o0 |50 00 || 00 o
v// v// v// v// —|
[ [
\\ \\ \\ \\
eFl Calla Cl
P100*5=500 50
P100*5=500 60
7.5 600 62.5
670
(FMO755A)
BN 2 jEmI Y | B A # e BE AERRBISERE H B GKAC3060-500
RY&®E | ZFE @NT: v |#E B FHER RESH B
= : T — = = PEREDHAREER
045~ 13 f88§ BT & | & B [2023/4/28| # ® |REARBE[ M % T
16 ~ 68 _id.1 25/ i BlE L = Http://www.gmtglobalinc.com /ﬁ\a, E p::] N/A gjﬁ GKAC3060-500-12 [ -P A-CPXXX
68 ~ 250 | 0.2 RBSEERRARDSSI (= ~ | nm BERY| A3 iR
250 ~ 1000 | +0.3 CMT GLOBAL INC. = ® ¥ @ £ :} N
1000 ~ 15001 +0.5 TEL:886-4-7688327  FAX:886-4-7688302 e Bl | 115 EE‘ 2601.09 R N/A



http://www.gmtglobalinc.com

	圖頁1
	工程視圖1
	工程視圖2
	工程視圖3
	剖面視圖 A-A
	工程視圖5


